AMERICAN STANDARD STRATOCASTER® HSS SHAWBUCKER
€060 (011311XXXX)

PARTS LAYOUT

@]
(@]
@]
42(43Y44
(@]
o O
1 |
(@]
) @
(333 o ® 9 70 72“’“&@@
39 SR
T N o
)
5N ‘* E
11)12)13 41
2R2R 12)20(17Y18 :
©)
2 ® ™yoooooo) - 14Y16)17(18 .
®(e-© © © 6°0
E ; 21 .
o goeis | :
IEEN 14Y1517Y18 —
® 2 19 & e
€N 2
)
10(17)(22)23
24
2 10(3

22(43Ya4

® Page 1 of 5
?%@Z% COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION Nov 6, 2014 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD STRATOCASTER® HSS SHAWBUCKER

(011311 XXXX)

PARTS LIST
REF# DESCRIPTION PART

NUMBER
1 BODY AM STD STRAT 3TS 0054014500
1 BODY AM STD STRAT BLK 0056229506
1 BODY AM STD STRAT SSB 0054015547
1 BODY AM STD STRAT OBM 0056229573
1 BODY AM STD STRAT BDM 0056229575
2 NECK ASSY AM STD RW 0075398000
2 NECK ASSY AM STD MPL 0075399000
3 KEY GTR 2 PIN MTG SHORT 0058142000
4 KEY GTR DUAL PIN MNT 0990820100
5 WASHER KEY 0053106049
6 BUSHING KEY 0058820049
7 STRING GUIDE TREE AM STD 0021537000
8 SCREW SMAB 3 X 3/8 RHP ZA CHROME 0021405049
9 PICKGUARD STRAT 1HB RH P/B/P 0056799000
10 SCREW SMAB 4 X 1/2 OHP ZA CHR 0994923000
11 SWITCH 5-WAY LEVER DISCRETE/COM 0078776000
12 SCREW 6-32 X 3/4 ZARTAN 0048631049
13 KNOB P/U SWITCH VINT AGED WHT 0994938000
14 KNOBS STRAT 1 VOL 2 TONE AGED WHT 0991369000
*15 | CONTROL 500K 10% TAPER 1/3W 0990834000
*16 | CONTROL 250K 10% TAPER 1/2W 0990830000
*17 | NUT HEX 3/8-32 X 3/32 TK NI 0016352049
*18 | WASHER LCK INTL 3/8 X .500 X .020 NI 0022384049
*19 | CAPACITOR MPF RDL .022uF 250V 10% 0024832049
*20 | CONTROL 500K/250K SPLIT 3/8 BUSH 7707211000
*21 CAPACITOR CD .05uF 50V 20% 0015552049
22 FERRULE JACK CHROME 0991940100
23 WASHER LOCK INTL 3/8 X .687 0016436049
24 JACK PHONE OPEN CIRCT 11 0021956049
25 BRIDGE ASSY AM SRS STRAT 0075091000
25A | BRIDGE PLATE AM SRS STRAT RH CHROME 0075089000
25B | TREMOLO BLOCK AS STRAT RH 0074349000
25C |BRIDGE SECTION ASSY NI AS STRAT TALL 0075123102
25D | BRIDGE SECTION ASSY NI AS STRAT SHORT 0075123101
25E | SCREW M4-40 X 5/8 RHP NI 0015693049
25F | SCREW M8-32 X 3/8 FHP NI 0019656049

*= NOT PICTURED IN DIAGRAM

Page 2 of 5

?%@[% COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

Nov 6, 2014 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD STRATOCASTER® HSS SHAWBUCKER

(011311 XXXX)

REF# DESCRIPTION PART
NUMBER
25G | SPRING BRIDGE #1932 0019281049
25H | SPRING BRIDGE #1933 0019273049
26 PIVOT POST ASSY 0093273000
27 TREMOLO ARM SPRING 0994931000
28 PICKUP ASSY SHAWBUCKER ZEBRA 7707189000
29 SCREW M#3-48 X 13/16 RHP #4 HD ZA 0050166049
30 SPRING HB MTG 3/4” 0050167049
31 PICKUP 50’S FAT STRAT MIDDLE AGED WHT 0053215004
32 SCREW 6-32 X 3/4 RHP ZA 0048631049
33 TUBING LATEX CUT .300 X 1/8 ID X 1/4 OD 0994916000
34 PICKUP 50’S FAT STRAT NECK AGED WHT 0053214004
35 NECK PLATE SPAG LOGO TILT CHROME 0991445100
36 SCREW SMA 8 X 1-3/4 OHPH ZARTAN 0021424049
37 SCREW ST 1/4-20 X 3/8 OP NI HEX 0031571000
38 BACK PLATE STRAT AM SERIES RH P/B/P 0056212000
39 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
40 CLAW SPRING TENSION NI 0010272100
41 SPRING TREMOLO TENSION BLK 0018671049
42 STRAP BUTTON CHROME 0063267049
43 SCREW WOOD 6 X 1 OHP NI 0016188049
44 BLACK FELT WASHERS 0994929000
44 WHITE FELT WASHERS 0994930000
* CASE ABS MOLDED STRAT/TELE 0095756000
* WRENCH 1/8 X 1-1/4 X 2-3/4 HEX 0023811049
* TREMOLO ARM 0992054000
* TREMOLO ARM KNOB PARCHMENT 0056250000
* WRENCH .050 HEX KEY SHORT ARM 0018531049
*= NOT PICTURED IN DIAGRAM
Page 3 of 5

?%@[% COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

Nov 6, 2014 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD STRATOCASTER® HSS SHAWBUCKER

(011311 XXXX)
WIRING ASSEMBLY

@)
@)
O
T~ O
O NECK PICKUP \
O O O OO O O o
©f ©
MIDDLE PICKUP
@)
5-WAY SWITCH O O O 0o
©
SOLDER & SHRINK
TUBE RED & GREEN WIRE BRIQGE PICKUP
9 O
5 %ﬂx
@)
BARE JD
WIRE
WHITE WIRE TO
OUPUT JACK
@)
®) Q)
OR®)
TONE 1
BLACK WIRE TO
.05uF TREMOLO CLAW
CAPACITOR
@)
\ GROUND LUG TO
BLACK WIRE TO CONTROL CAVITY

.022pF

TONE 2 CAPACITOR OUPUT JACK  DUAL POT VOLUME

CONTROL DETAIL

® Page 4 of 5
?%@Z% COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION Nov 6, 2014 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD STRATOCASTER® HSS SHAWBUCKER

(011311 XXXX)
SWITCH AND CONTROL FUNCTION

5 WAY SWITCH POSITION

3 SWITCH POSITION

T T T T1&T2 T2 -=— CONTROL

GED @G ) | C ) | C ) | =.-— NECK PICKUP

= O | e | em=» | @ | O | = MiODLEPICKUP
//‘/
s | [ e ) I = -
5 o N33 b 88 BRIDGE PICKUP
@D PICKUPISON INDICATES POSITION

/ OF 5 WAY SWITCH
° 1

" PICKUP IS OFF

O
®) ®
®
O
NECK ® o
MIDDLE
PICKUP
@000000)® 5 WAY
BRIDGE SWITCH
PICKUP MASTER
VOLUME
~(000000
@ < TONE 1 (T1)
®(e-0 © © 600 g
’ TONE 2 (T2)

=

7 % ® Page 5 of 5
%@[@é COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION Nov 6, 2014 - Rev. A



http://www.fender.com/
http://www.fender.com/

